ApxaHrenbck (8182)63-90-72
AcTtaHa (7172)727-132
AcTtpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropon (4722)40-23-64
BpsiHck  (4832)59-03-52
BnapuBocTok (423)249-28-31
Bonrorpag (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHbypr (343)384-55-89
WBaHoBo (4932)77-34-06

WxeBck (3412)26-03-58
WpkyTck (395)279-98-46
KasaHnb (843)206-01-48
Kanununrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
JNuneuk (4742)52-20-81

Kuprusua (996)312-96-26-47

Marnutoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93

Ha6epexHble YenHbl (8552)20-53-41
HwxHuin Hosropoa (831)429-08-12

HoBoky3Heuk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42
OpeHbypr (3532)37-68-04
MeHsa (8412)22-31-16

Poccus (495)268-04-70

Mepmb (342)205-81-47

PocToB-Ha-[loHy (863)308-18-15

PssaHb (4912)46-61-64
Camapa (846)206-03-16

CaHkT-lMeTepbypr (812)309-46-40

CapartoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdpepononb (3652)67-13-56
CmoneHck (4812)29-41-54
Coumn (862)225-72-31
CraBpononb (8652)20-65-13

Kasaxcran (772)734-952-31

https:/icelette.nt-rt.ru || cfe@nt-rt.ru

dononHutenbHoe o6opyaoBaHue AN MeTPUYECKON CUCTEMbI

METRO 2000 AVEC CHARIOT VERT

ﬁ ;L
‘L' o "-1.‘ A S——
_\-\ e

RENVOI D'ANGLE B

RENVOI D'ANGLE A

VIS DE FIXATION COLONNE

REP.97 DU ME.2010

JEU DE 2 RENVOIS D'ANGLE B

JEU DE 2 RENVOIS D'ANGLE A

CHARIOT TRANSPORT CADRE MESURE

VIS FIXATION CADRE MAC

COLUMN N°1 of METRO 2000 ME.2010

CypryT (3462)77-98-35
TBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TioMeHb (3452)66-21-18
YnbaHOBCK (8422)24-23-59
Ydba (347)229-48-12
XabapoBck (4212)92-98-04
YenabuHck (351)202-03-61
YepenoBey (8202)49-02-64
flpocnaBnb (4852)69-52-93


https://celette.nt-rt.ru
mailto:cfe@nt-rt.ru

— ©

MYGALE

COLUMN N°2 of METRO 2000 ME2010 COLUMN N° 3 from METRO 2000 ME.2010

) )

C €

Accessory for FRONT CHOCK ABSORBER
for FIAT PANDA Typ 139 for METRO 2000

o
&)

— -

MYGALE AVEC SERVANTE
SHOP BY

CHARIOT TRANSPORT CADRE MESURE SHOPPING OPTIONS



ACCESSORIES

CITROEN ETRIER CONTROLE LONGER

“ & D

CHECKING KIT

b=

CA.100

CHECKING ACCESSORY

CA.103 ﬁ

CHECKING KIT

CA.105 ;

SPARE PART

BMW SERIE 5 CALIBRES CONTROLES

CA.10

o

ACCESSOIRE MESURE CITROEN X41

CHECKING KIT

CA.104
&

GABARIT DE CONTROLE AMORTISSEUR
AV

@ @
o> &2
CA.106 @ @

T

ACCESSOIRE MESURE CITROEN C3



DATSUN CALIBRE DE CONTROLE

o> Wl
CA11 II

OUTILLAGE METRO 2000

OUTILLAGE DE MESURE POUR DACIA
LOGAN

.ﬁ CA117
"_-—-—_‘

OUTILLAGE DE MESURE POUR HYUNDAI
SONATA

CA119

OUTILLAGE DE MESURE POUR ALFA 159

CA.121

4 CA.108

OUTILLAGE DE MESURE METRO 2000

gm.m

cars \\

OUTILLAGE DE MESURE POUR SEAT

CHECKING GAUGE

) D)
ll CA.12

CHECKING ACCESSORY

[=)
U CA.124
e



OUTILLAGE DE MESURE POUR HONDA
ACURA RL

CA.125

CHECKING ACCESSORY

OUTILLAGE DE MESURE POUR
CHEVROLET CRUZE

OUTILLAGE DE MESURE POUR
CHEVROLET CRUZE

CHECKING ACCESSORY FOR WHISBONE

CHECKING ACCESSORY

OUTILLAGE DE MESURE POUR METRO
2000

dcmza

RENAULT CALIBRE DE CONTROLE AV

CA.13 %

CHECKING ACCESSORY FOR WISHBONE

RENAULT AXES POUR CONTROLE AV.

\% cata




CHECKING GAUGE

CA15 @

1 SPACER TO CHECK

CA17

1 SPACER TO CHECK

CA.19 %

CHECKING GAUGE FOR
£2 ()
Tors
BMW SERIE 3 CONTROLE TRAVERSE

CA.22

BCT
ACT:

2 GAUGES TO CHECK

HONDA RONDELLES POUR CONTROLE

S & cats

RENAULT R16 CALIBRE DE CONTROL

& CA.18

FORD TAUNUS DISQUES DE CONTROL

9@ cne

2 CHECKING GAUGES

.

FORD SIERRA CONTROLE MC PHERSO

OO

% CA.23

PORSCHE CONTROLE SUSPENSION AV



S
CA.24 '

CITROEN BX EMBOUT MALE-FEMELLE

CA26 % @

CHECKING GAUGE

)
A.28
IO

PEUGEOT PIGES POUR 204-304-305

cne U

CHECKING GAUGE

WN

CHECKING GAUGE(MAZDA 626)

=)
' CA33

2P

FIAT CONTROLE MAC-PHERSON

i

i
CA27 % %

MERCEDES CONTROL.PIVOT DIRECTI

CA.29 @

SAAB 1900 CONTROL SUSPENSION

ALFA ROMEO SPIDER 200

VW GOLF 84

g ¥
cau S &
© e



OPEL J CAR CALIBRE CONTROLE

%ﬂ CA.35

2 GAUGES FOR ESCORT 84

2 CENTRING PARTS TO CHECK

s b
[
AMC EAGLE CALIBRE CONTROLE

% CA.40

2 CENTRING PARTS TO CHECK

2 GAUGES FOR FIESTA 84

RENAULT AXES DE CONTROLE R5

O\ e

2 CENTRING PARTS TO CHECK

)
CA.41 @ @
C

¢
@



KIT

GAUGE TO CUT

CA.44 %

4 WASHERS TO CHECK

00—

CA48
@

TOYOTA VAN CONTROLE FIXATION

CA.48 %

RENAULT CALIBRE CONTROLE R5

CAS %&

CHECKING OF THE STEERING

CHRYSLER T115 CONTROLE FIXATIO

© 8 ca4

MITSUBISHI CONTROLE MAC PHERSO

E0-

% CA.45

CITROEN+104 CONTROLE MAC PHERS

@ C@ ons7

CHECKING OF UPPER FIXINGS

CHECKING GAUGE

2 CHECKING GAUGES



CA.51

MAZDA RX7.2 CHECKING SPACERS 2 GAUGES FOR JAGUAR XJ6

@)’ (T
CA53 ll % @ CA.54

4 WASHERS TO CHECK 2 CHECKING GAUGES
i 7

CA.55 CA.
P © o

2 CHECKING PLATES 4 CHECKING GAUGES
o]

o LML AR exe

)

2 PLATES / HONDA PRELUDE RENAULT CALIBRE CONTROLE R18

Iy
CAS59 j‘?& S CA6

|
-

&

1 WASHER + 1 FLANGE 2 CENTRING PARTS + 2 GAUGES
B 5é
CA.60 g o %



OPEL VECTRA CENTREUR CONTROLE

¥

v
CA.62
PP
CITROEN XM

<, 0

KIT POUR MAC PHERSON

CA.66 g:g-

2 CENTRING PARTS TO CHECK

i ¥
CA68 @@

OPEL VECTRA BRIDES CONTROLES

chgs > <&

2 CENTRING PARTS TO CHECK

@ @ CA.65

RENAULT ESPACE PHASE Il

% CA.67

RENAULT X54

88




RENAULT CALIBRE CONTROLE R18

CA.7 %

CITROEN XANTIA

CA.71

CITROEN JUMPER/PEUGEOT BOXER

CA.?@

KIT METRO 2000 GOLF 3 CABRIOLET

KIT MESURE PEUGEOT U60

ACCESSOIRE DE MESURE POUR POLO

95

CHECKING KIT FOR MAZDA RX7 FD

@ CA.70
5

RENAULT X56 FIXATION SUPPORT
MOTEUR

B

CHECKING ACCESSORY
s
cA74 )

KIT MESURE MERCEDES W202

)
g CA76 \\

CHECKING ACCESSORY FOR AUDI A4

ALFA ROMEO TUBE DE CONTROLE



CA.79

ACCESSOIRE DE MESURE POUR POLO ACCESSOIRE DE MESURE ALFA 145
95
CAS0 S” A

CA.83

ACCESSOIRE DE MESURE PEUGEOT 406 CHECKING ACCESSORY

CA.85

CHECKING ACCESSORY ACCESSOIRE DE MESURE POUR VW
SHARAN
g @
CA.86 CA.87 @ @

ACCESSOIRE DE MESURE OPEL VECTRA = CHECKING ACCESSORY

@ @ CA.88 CA.89

FORD GRANADA RONDELLES CONTROL CHECKING ACCESSORY

che © @ [;:% Cy



CHECKING ACCESSORY FOR AUDI A3

cA91 g

GABARIT DE CONTROLE AMORTISSEUR
AR

KIT DE MESURE MERCEDES "W210"

?
CA.95 @

9
o I
@

KIT POUR MERCEDES VITO/VIANO

CHECKING ACCESSORY FOR AUDI A3

D cae

i

ACCESSOIRE DE MESURE RENAULT
KANGOO

i
8 CA.94

KIT DE MESURE POUR PEUGEOT 406

i e

KIT POUR METRO 2000




PRESENTOIR MYGALE

ZINC SCREW HM 10X70 CL8.8

il §

NUTS HM12 CL8.8

SECURITY NUT M10

SECURITY NUT M14

ZINC SCREW HM 10X50 CL8.8

S

OUTSIDE CIRCLIP Diam 12 mm

SECURITY NUT M6

SECURITY NUT M12

BRAKE BLOCK



BRAKE BLOCK GUIDE

PLASTIC KNURLED SCREW M8x30

COMPAREX

PLASTIC KNURLED SCREW M6x16

Accessory for FRONT CHOCK ABSORBER
for FIAT PANDA Typ 139 for METRO 2000

The overhead gantry provides perfect alignment of the lateral panels (car-body lateral elements)
and of the upper parts of the car-body (cabriolet ...).

ApxaHrenbck (8182)63-90-72
AcTaHa (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BpsAHCK  (4832)59-03-52
BnagmBocTok (423)249-28-31
Bonrorpaa (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuH6ypr (343)384-55-89
WBaHoBo (4932)77-34-06

TELESCOPIC GAUGE

Celette
Reference
MESURE Learn More

WxeBck (3412)26-03-58
WpkyTck (395)279-98-46
KazaHb (843)206-01-48
Kanunuurpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupoe (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
Nuneuk (4742)52-20-81

Kuprusua (996)312-96-26-47

: STN.400

MarHutoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93
Ha6epexHble YenHbl (8552)20-53-41
HwxHuit Hosropopa (831)429-08-12
HoBoky3Heuk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

MeHnsa (8412)22-31-16

Poccua (495)268-04-70

Mepmb (342)205-81-47
PocToB-Ha-[loHy (863)308-18-15
PazaHb (4912)46-61-64
Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
CapaTtoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdepononb (3652)67-13-56
CmoneHck (4812)29-41-54
Coum (862)225-72-31
CraBpononb (8652)20-65-13

KasaxcraH (772)734-952-31

https://celette.nt-rt.ru || cfe@nt-rt.ru

CypryTt (3462)77-98-35
TeBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TioMeHb (3452)66-21-18
YnbAHOBCK (8422)24-23-59
Ydba (347)229-48-12
Xa6apoBck (4212)92-98-04
YenabuHck (351)202-03-61
Yepenosey, (8202)49-02-64
flpocnaBnb (4852)69-52-93


mailto:cfe@nt-rt.ru
https://celette.nt-rt.ru



